ZUR

——— 71231EZ-WL
WALL-HUNG LAVATORY ADJUSTABLE CARRIER WITH WASTE LINE SLEEVE

~——mmmm— INSTALLATION INSTRUCTIONS

1.

Determine the height and measure where you wish to
locate the waste line sleeve on both uprights
See Fig. 1

Remove screws from the cross bars. Set all of the
screws (6) and the cross bars (2) aside, for re-assembly
later. See Fig. 2

Note: Repeat Steps 3 through 10 for both uprights

3.

,/ll

WASTE LINE
HEIGHT

\%
-

For both uprights. ~.

Transfer the measurement on to both uprights. Use a .

square and scribe cut line(s) onto and/or all around the ‘\

uprights. See Fig. 3 |

\\
WASTE LINE |
HEIGHT
/
( e
\\ _1/’
Fig.3
/\ WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov
/\ ADVERTENCIA: Cancer y dafio reproductivo - www.P65\Warnings.ca.gov
/\ AVERTISSEMENT: Cancer et effets néfastes sur la reproduction - www.P65Warnings.ca.gov
801 Pitsburgh Avenue, Ere, PA 16502, Ph. 835,865.9676 Rev. — C
Ittsburg venue, trie, , . . . Date 12/30/22
In Canada | Zurn Industries Limited C.N. No.144897
7900 Goreway Drive, Unit 10, Brampton, Ontario L6T 5W6, Ph. 877.892.5216
Patent zurn.com/patents

www.zurn.com Prod. | DWg. No. C67 Page 10F5



——— 71231EZ-WL
z UR ®WALL—HUNG LAVATORY ADJUSTABLE CARRIER WITH WASTE LINE SLEEVE
—~—emmmmmss=—  |[NSTALLATION INSTRUCTIONS

4. Forboth uprights.
Use appropriate saw and cut uprights into two pieces.
The saw cut must be square on the uprights. Remove
any burrs which may remain. See Fig. 4

5. Forboth uprights.
Keep the two cut pieces of the upright together in
matched sets (“top piece” and “bottom piece”). This will
assure that the overall height of the upright is correct if
several uprights are cut at different locations. See Fig. 5 \
TOP PIECE

<' \—BOTTOM PIECE
\%\BASE PLATE

Fig.5
6. Using the provided template, line up the “Cut Line” with TOP PIECE
the cut edge of the bottom piece, and using a marking
punch tool, mark the two “Hole Locations” provided e

on the template. Using a 1/2” drill bit, drill through

both walls of the upright, ensuring the holes remain
perpendicular to the surface. Repeat the same process
for the top piece. See Fig. 6

DRILLING
TEMPLATE

; DRILLING @
******* TEMPLATE 2

BOTTOM

|~ PIECE

 E—

Fig.6

/\ WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov
/\ ADVERTENCIA: Cancer y dafio reproductivo - www.P65\Warnings.ca.gov
/\ AVERTISSEMENT: Cancer et effets néfastes sur la reproduction - www.P65Warnings.ca.gov

Zurn Industries, LLC | Specification Drainage Operation Rev. C
1801 Pittsburgh Avenue, Erie, PA 16502, Ph. 855.663.9876
Date: 12/30/22

In Canada | Zurn Industries Limited C.N. No.144897
7900 Goreway Drive, Unit 10, Brampton, Ontario L6T 5W6, Ph. 877.892.5216
Patent zurn.com/patents

www.zurn.com Prod. | DWg. No. C67 Page 20F5



——— 71231EZ-WL
z UR ®WALL—HUNG LAVATORY ADJUSTABLE CARRIER WITH WASTE LINE SLEEVE
—~—emmmmmss=—  |[NSTALLATION INSTRUCTIONS

7. Forboth uprights.
Slide the waste line sleeve on to the bottom piece of
the upright until the upright makes contact with the
flange from the waste line sleeve.
Note: Position the sleeve so that the ARROW is
pointing towards the front of the carrier. See Fig. 7

1 I~__BOTTOM
o

PIECE

8. For both uprights
Use: (2) 3/8-16 Bolt M
(4) 3/8 Washer J2

(2) 3/8-16 Nut
Slide one washer onto the bolt. Slide the bolt through
one side of the hole, through the holes in the sleeve,
and out of the opposing side. Use flat washer and nut @7@ | 6%’“
and snug tighten only. Repeat for both holes.
Note: Position the sleeve so that the ARROW is N
pointing towards the front of the carrier. See Fig. 8 %%

9. For both uprights
Slide the top piece of the upright into the sleeve until
the upright makes contact with the flange from the
waste line sleeve. See Fig. 9

S Fig.9

/\ WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov
/\ ADVERTENCIA: Cancer y dafio reproductivo - www.P65\Warnings.ca.gov
/\ AVERTISSEMENT: Cancer et effets néfastes sur la reproduction - www.P65Warnings.ca.gov

Zurn Industries, LLC | Specification Drainage Operation Rev. C
1801 Pittsburgh Avenue, Erie, PA 16502, Ph. 855.663.9876

Date: 12/30/22
In Canada | Zurn Industries Limited C.N. No.144897

7900 Goreway Drive, Unit 10, Brampton, Ontario L6T 5W6, Ph. 877.892.5216
Patent zurn.com/patents

www.zurn.com Prod. | DWg. No. C67 Page 30F5



——— 71231EZ-WL
z UR ®WALL—HUNG LAVATORY ADJUSTABLE CARRIER WITH WASTE LINE SLEEVE
—~—emmmmmss=—  |[NSTALLATION INSTRUCTIONS

1 O For both uprights o

Use: (2) 3/8-16 Bolt )
(4) 3/8 Washer 7
(2) 3/8-16 Nut

Slide one washer onto the bolt. Slide the bolt thru one

side of the hole, through the holes in the sleeve, and out

of the opposing side. Use flat washer and nut and snug

tighten only. Repeat for both holes. See Fig. 10

s )

1 1 . Retrieve the cross bars and screws and reassemble the
carrier. See Fig. 11

12. Position and set the carrier in the proper location and
secure the uprights to the concrete floor using either 3/8
or 1/2 anchors (provided by others). See Fig. 12
£
@
©®

1 3 Secure all waste line sleeve bolts, and torque them to
70 ft-Ibs.

Fig.12

/\ WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov
/\ ADVERTENCIA: Cancer y dafio reproductivo - www.P65\Warnings.ca.gov
/\ AVERTISSEMENT: Cancer et effets néfastes sur la reproduction - www.P65Warnings.ca.gov

Zurn Industries, LLC | Specification Drainage Operation Rev. C
1801 Pittsburgh Avenue, Erie, PA 16502, Ph. 855.663.9876
Date: 12/30/22

In Canada | Zurn Industries Limited C.N. No.144897
7900 Goreway Drive, Unit 10, Brampton, Ontario L6T 5W6, Ph. 877.892.5216
Patent zurn.com/patents

www.zurn.com Prod. | DWg. No. C67 Page 40F5



——— 71231EZ-WL
z UR ®WALL—HUNG LAVATORY ADJUSTABLE CARRIER WITH WASTE LINE SLEEVE
INSTALLATION INSTRUCTIONS

Drilling Template
Do Not Scale

. 2wea
UPRIGHT WIDTH

CUT LINE |

49d4
49d4

/\ WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov
/\ ADVERTENCIA: Cancer y dafio reproductivo - www.P65\Warnings.ca.gov
/\ AVERTISSEMENT: Cancer et effets néfastes sur la reproduction - www.P65Warnings.ca.gov

Zurn Industries, LLC | Specification Drainage Operation Rev. C

1801 Pittsburgh Avenue, Erie, PA 16502, Ph. 855.663.9876 Date: 12/30/22

In Canada | Zurn Industries Limited ) C.N. No.144897

7900 Goreway Drive, Unit 10, Brampton, Ontario L6T 5W6, Ph. 877.892.5216 Patent m com/patents
zurn.

www.zurn.com Prod. | DWg. No. C67 Page 50F5



